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1. Children having the 1.Q. level of 120-140 is
A) Superior B) Very superior C) Average D) Genius

Ans : B) Very superior

2. ‘Two-factor theory’ was advocated by

A) Thorndike B) Vernor C) Spearman D) Guilford

Ans: C) Spearman

3. A Suitable profession for the persons having high level of ‘Linguistic intelligence’ is
A) Mathematicians  B) Engineers C) Players D) Writers

Ans : D) Writers

4. Maslow considered physiological needs, safety needs and belongingness needs as

A) Esteem needs B) Growth needs C) Aesthetic needs D) Deficiency needs

Ans : D) Deficiency needs

5. Rewards and punishments serve as

A) Intrinsic motivation B) Extrinsic motivation C) High motivation D) Low motivation

Ans : B) Extrinsic motivation

6. According to whom, “social development means attaining of maturity in social relationships?

A) Erickson B) Sullivan C) Kohlberg D) Hurlock

Ans : D) Hurlock

7. The person perceives things in their real perspective, then they have maturity.
A) Social B) Behavioural C) Emotional D) Moral

Ans : A) Social
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8. If we track the proficiency achieved by a student for about 6 months, who learns drawing then

the obtained learning curve is

A) Positive curve B) ‘S’ typed curve C) Bell shaped curve D) Negative curve

Ans : B) ‘S’ typed curve

9. Reinforcement is a common term used to represent the reward in
A) Classical conditioning B) S-R. conditioningC) S-O-R conditioning D) Operant conditioning

Ans : D) Operant conditioning

10. “Naming apple as fruit and distinguishing it from other fruits” belongs to what kind of formation

in Gagne theory?

A)concept formation B)Associative formation C)Visual formation D)Verbal formation

Ans: A)concept formation

11. The determinants of developmental tasks among adolescents are
A)The culture in which they live B) The maturity of the Physical features

C) Individual’s value system D) All the above

Ans : D) All the above

12. While teaching children, the teacher mostly uses images to
A) Develop tactile images B) Develop visual images

C) Develop concrete images D) Develop of factory images

Ans: C) Develop concrete images

13. In the course of the child’s mental growth important changes occur in his cognitive structure by

the process of

A) Equilibrium B) adaptation and Accommodation
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C) Assimilation and Accommodation D) Organization

Ans: C) Assimilation and Accommodation

14. Language or word is not necessary for

A) Imaginative Thinking B) Conceptual Thinking C)Associative Thinking D) Perceptual thinking

Ans: D) Perceptual thinking

15. The emotion producing stimuli has a effect.

A) Cumulative B) Positive C) Zero D) Negative

Ans: A) Cumulative

16. Select the right order of the stages of evolution of meaning for the term psychology

Il i v
Stage Stage Stage Stage
A) Study of Study of Study of Study of
Soul the mind consciousness behaviour
B) Study of Study of Study of Study of
Sprit the mind consciousness behaviour
C) Study of Study of Study of Study of
Consciousness Soul mind behaviour
D) Study of Study of Study of Study of
Soul Consciousness mind behavior
Ans: | 1 111 v
Stage Stage Stage Stage
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A) Study of Study of Study of Study of

Soul the mind consciousness behaviour

17. Fill up the blank with suitable answers from the choices given below.

A teacher of science subject shows a plant and teaches the parts of it. It can be inferred that the

teacher adopts the Psychological theory
A) Hull’s systematic behaviour theory B) Hebb’s neurophysiological theory
C. Gestalt theory of insightful learning D) Jung’s psychotheraphy

Ans: B) Hebb’s neurophysiological theory

18. Name of the great psychologist who expressed sex as a natural, essential, biological function

instead of regarding it a shameful, dirty or bad.

A) E.L. Thomdike B) Kurt Lewin C) Jean piage D) Sigmund freud

Ans: D) Sigmund freud

19. Transitional conflicts are often faced by adolescents because
A) They are being treated as adult only B) They are being treated as child yet
C) They are being treated as hated persons

D) They are being considered neither a child nor an adult

Ans : B) They are being treated as child yet

20. The child marriages are not accepted by the Government because the couple must have

attained.

A) The social maturity B) The physical maturity C) The sexual maturity D) the legal maturity

Ans: B)The physical maturity

PC ydlu elligwied Cargln Qe i.Czefl 9843 16 5243, 894088 6227 | =




21. Criminal Proneness Theory was advocated by

A) Hooton B) Albert Bandura C) John Dewey D) Murray

Ans: A) Hooton

22. Conflict in selecting a course engineering or medicine by the high scorer Iniya who is motivated

for both the courses is an example for conflict.
A) Avoidance-Approach B) Approach-Avoidance

C)Approach-Approach D) Avoidance-Avoidance

Ans: C)Approach-Approach

23. According to the Psychologist counselling coversall types of personal situations

in which one person is helped to adjust more effectively to himself and his environment.

A) Carl Rogers B) Robinson C) Good D) Erickson

Ans: D) Erickson

24. Which one of the following is not related to study skills technique?

A) Preparing environment  B) Goal focused C) Day dreaming D)Activate your mind

Ans : C) Day dreaming

25. The number of types of counseling is

A)3 B) 2 01 D)5

Ans:A)3

26. Striving to achieve a standard of excellence in actions is

A) Integrated personally B) Creativity C) Achievement motivation D) Adjustment

Ans : C) Achievement motivation
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27. Which one of the following does not come under the classification of Spanger’s personality

type?
A) Theoretical B) Aesthetic C) Political D) Materialistic

Ans : D) Materialistic

28. The first Minnesota Multiphasic Personality Inventory (MMPI) has items.
A)120 B) 320 C) 550 D) 330
Ans: C) 550

29. The ability to register words and numbers with speed and accuracy is

A) Intellectual ability B) Perceptual ability C) Mechanical ability D)Spatial ability

Ans : D)Spatial ability

30. The number of steps in Maslow’s theory of Hierarchical Needs is

A)6 B) 7 C)8 D)5

Ans :B)7
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PART-III ENGLISH

61.  Extensive reading, if properly guided will
A) Create love for doing exercise B) Create love for extra-reading

C) Create love for writing English D) Create love for listening English
Ans: B) Create love for extra-reading

62. Twenty six letters of English alphabets do the work of sounds.
A) Forty three B) Forty two C) Forty D) Forty four

Ans : D) Forty four

63. Listening is a process of hearing with

A) Understanding, interpreting and responding
B) Responding, understanding and interpreting
C) Interpreting, responding and understanding
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D) Understanding, responding and interpreting
Ans : D) Understanding, responding and interpreting

64.  Which statement is incorrect ?
A) Acronyms can be called as alphabeteisms B) Acronyms are pronounced as words
C) Acronyms are formed from the initial letters
D) Acronyms are antonyms to abbreviations

Ans : A) Acronyms can be called as alphabeteisms

65.  Indictionary V (pp) means
A) Verb present participle B) Verb past tense
C) Verb past participle D) Phrasal verb

Ans: C) Verb past participle

66.  Choose the correct word order.
A) You and Rachel and I can expect promotion
B) Rachel and I and you can expect promotion
C) Rachel and you and I can expect promotion
D) I and Rachel and you can expect promotion

Ans: C) Rachel and you and I can expect promotion

67. Add the correct question tag to the given sentence.
Let us thank our teachers..........
A) Shan't we ? B) Won't we ? C) Shall we? D) Can we ?

Ans : C) Shall we?

68.  Fill in the blank with the correct auxiliary verb.

Seldom our teacher come late to school.
A) do B) did C) have D) had

Ans: A) do
69.  Add the right prefix to the word 'feeble' choosing from the options given
A)-im B)-in C) -dis D) —en
Ans: D) —en

70.  Polar-questions are
A) Yes/No questions B) 'Wh' questions

C) Multiple choice questions D) Short questions

Ans: C) Multiple choice questions

71. Choose the correct sentence.
A) Two of my sisters-in-law are staying with me
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B) Two of my sister-in-laws are staying with me
C) Two of my sister-in-laws is staying with me

D) Two of my sisters-in-laws are staying with me

Ans: A) Two of my sisters-in-law are staying with me

72. Identify the grammatical function of the underlined part of the sentence.
He ran through the wooden door.
A) Adverb B) Prepositional phrase C) Adjective phrase D) Verb

Ans: B) Prepositional phrase

73. Fill in the blank choosing the correct word.
He is an, of the school.
A) alumni B) alumna C) alumnae D) alumnus

Ans : A) alumni

74. Fill in the blank with the correct form of the verb.
I on Thursday. But on Thursday I had terrible cold. So I decided to wait
till Saturday.
A) was to have left B) am to leave C) 'Would leave D) will leave

Ans: A) was to have left

75. Find out the pair of words with the combination of 'adverb + noun'.
A) Dark room, mad man B) Chewing gum, dancing girl
C) Upshot, forefinger D) Search light, play thing

Ans: C) Upshot, forefinger

76. Collecting food for cattle is known as
A) grazing B) foraging C) fostering D) foraying
Ans: C) fostering

77. Which pair will suit the following sentence ?

your tongue or you will keep spoiling your make-up.

A) Bridal, bridle B) Brittle, bridal C) Bridle, bridal D) Broil, bridal
Ans : C) Bridle, bridal

78.  The phrasal verb "peter out' means
A)Send peter out B) To decrease C) To urge D) To progress

Ans: C) To urge

79. Suffixes are usually
A) unstressed ~ B) strongly stressed C) weakly stressed D) stressed

Ans: C) weakly stressed

80. Select the correct active voice of the sentence.
"I have not been informed ".
A) You will not inform me B) They will not inform me
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C) None of you will inform me D) None of you have informed me yet
Ans : D) None of you have informed me yet

81. Factual descriptions of an event or incident are called
A) Reports B) Articles C) Records D) Registers

Ans: A) Reports

82. The return address refers to
A) The editor's address  B) Sender's address C) Receiver's address D) Principal's address

Ans: B) Sender's addres

83. "O, ye wheels"
"Stop ! be silent for today.
A) Simile B) Metaphor C) Personification D) Oxymoron

Ans: D) Oxymoron

84.  In which of the combination the letter 'h' is pronounced ?
A) exhibit-exhilarate B) rhetoric-khaki C) heir-hour D) hostel-hostile

Ans : A) exhibit-exhilarate

85. Choose the generic term of "Forks, knives and spoons”
A) Stationery B) Grocery C) Cutlery D) Crockery

Ans: C) Cutlery

86. Parenthesis are
A) Mark of interrogation B) Mark of exclamation C) Mark of brackets D) Mark of quotation marks

Ans: C) Mark of brackets

87. A paraphrase of a passage should be
A) Of specific length compared to the original passage
B) Much shorter than the original passage
C) Much longer than the original passage
D) No hard and fast rule for the length

Ans : A) Of specific length compared to the original passage

88.  Body language is considered as vehicle of communication along with voice and pitch. If one
leans forward it is interpreted as

A) Wishing to get involved B) Feeling uneasy

C) Lack of confidence D) Showing restlessness

Ans: A) Wishing to get involved

89.  Which is the "longest pause" ?

A) Apostrophe B) Dash C) Hyphen D) Full-stop
Ans: D) Full-stop
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90.  The phrase "Visually Challenged" is used as
A) Euphonymous word B) Clipping word C) Euphemistic word D)Blending word

Ans: C) Euphemistic word

PART—IV SECTION —-A MATHEMATICS AND SCIENCE

91. If 2,400 sg.m. of land can be tilled by 12 workers in 10 days, how many workers are needed
to till 5,400 sg.m of land in 18 days?

A) 10 B) 15 C) 20 D) 25
Ans: B) 15
92. Ashwin deposided Rs.200 per month for 5 years in a recurring deposit account in a post

office. If he received Rs. 13,830, then the rate of interest is
A) 4% B) 5% C) 6% D) 7%.

Ans: C) 6%

93. If the each side of a square is increased by 50% then by how much percent will its area be
increased?

A)50 B) 100 C) 125 D) 150

Ans: C) 125

94. Two partners invest Rs. 12,500 and Rs.8,500 respectively in a business. If one partner gets Rs.

300 more than the other in the profit, what is the total profit?

A)Rs. 1,475 B)1,575 C)Rs. 1,675 D)Rs. 1,570

Ans:B) 1,575

95. The sum of parallel sides of a trapezium is 18 cm and height is 15 cm. Then its area is

A) 105cm? B) 115cm?  C) 125cm? D) 135 cm?

Ans: D) 135 cm’

96. Which one of following is a ferromagnetic substance?

A) Bismuth B) Nickel C) Aluminium D) Quartz

Ans: B) Nickel

97. Which one of the following is correct?
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A) The symbol for Sl unit of current is A
B) The symbol for Sl unit of current is amp
C) The symbol for Sl unit of current is am

D) The symbol for Sl unit of current is a

Ans; A) The symbol for Sl unit of current is A

98. Sound travels faster in

A) Liquids B) Gases C) Solids D) All of these
Ans: C) Solids
99. Respiration in living beings is an reaction.

A) Exothermic B) Endothermic C) Photo-decomposition D)Electro Chemical

Ans; A) Exothermic

100. acid cannot be stored in glass or silica bottles as it

attacks bottles.

A) Aqua regia B) HF C) HCI D) HBr
Ans; B) HF
101. A cow is tied up for grazing inside a rectangular field of dimensions 40m x 36

m in one corner of the field by a rope of length 14m. What is the area of the field left
ungrazed by the cow?

A) 1226 m? B) 1246m? C)1266m? D)1286m>

Ans: D)1286m’

102. A copper wire is in the form of a circle with radius 35cm. It is bent into a square is

A)35cm B) 45cm C)55cm D) 65cm

Ans: C)55cm

103. Arodis bentin the shape of a triangle as shown in the figure. What is the length of
the side if it is bend in the shape of a square?

A) 4cm B)5cm C) 6cm D) 7cm
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3cm

Ans: A) 4cm

104. Which of the following is called as the golden ratio?
A)1:2.6 B)1:1.6 C)1:3.6 D) 1:4.6

Ans:B) 1:1.6

105. Who is the father of Geometry?

A)Gauss B) Euclid C) Paul Erdos D) Ramanujam

Ans; B) Euclid

106.  13+23+33%+434+53%463+73+8%+9%s equal to

A) 42° B)43? C)a4® D)45?
A" D)45°
107. The square root of 99980001 is

A) 9991 B) 9999 C) 9199 D)1999

Ans: B) 9999

108 .The approximate value of 0.000007

0.00001275

A)5.3 B)0.5 C)5.0 D)0.05

Ans: B)0.5
109.The value of

A)0 B)2 C)undefined D)none of these

Ans Clundefined
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110. Which one is not related with others?

A)331/3% B) 1:3 C)0.33 D)331/3

Ans:D)331/3

111. Which one is differ from others

AnsB) 22/7
112. (10x+3)+ (10y +5) =11 (x+y), then (x +y) =?

A)2 B) 3 Q)5 D)8

Ans: D) 8

113. If a polynomial f(x) is divisible by 3x+2 then the remainder is
W) ) o) o

Ans :A)f(— g)

114. Which is not a polynomial?

Ans :A)0

115.The Value of (v2) V3 3+ (V2) V3 —

Ans: A) (2v2)

116. Atomic mass of Cl is 35.5 g/mol. The mass of a Cl atom is equal to

A)5.90 x 102 Kg B) 5.90 x 10%* Kg C)5.90x10%2 g D)5.90x 102 g

Ans: D) 5.90 x 10” g

117. Bacterial cell—1675: 1928

A) Virus B) Protozoa C) Fungus D) Algae

Ans: C) Funqus
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118. A farmer planted apples using plant breeding techniques. These plants have resulted in the
increase in vigour and fruit size, large root size, large leaves, flowers, more seeds and sugar
content in them. What kind of seeds he would have planted?

A)Autopolyploidy B)Allopolyploidy C)Euploidy D)Aneupolidy

Ans: A)Autopolyploidy

119. Three of the items given below are related in a way or other. But one of it has no relation
with the other. Find out that.

A) Lomentum B)Cremocarp C) Regma D)Cypsella

Ans: D)Cypsella

120. The most dangerous consequence of excessive deforestation is
A) Destruction of wild animal habitats B) Loss of forest wealth

C) Soil erosion D) Loss of valuable plants

Ans: A) Destruction of wild animal habitats

In ABC the measure of A is greater than the measure of B by 24. If the exterior angel of C is 108 the
Ais

A)46 B)56 C)66 D)76

Ans: C)66

122. A certine sum of money amounts to Rs. 8,880 in 6 years and Rs. 7,920 in 4 years.
A)5% B)6% C) 7% D)8%

Ans: D)8%

123. There are 250 students in a school. 55 students like basket ball, 75 students like foot ball, 63

students like throw ball, while the remaining like cricket, what percent of students like
basket ball?

A) 32% B) 42% C)12% D)22%
Ans: D)22%

124. A car takes 5 hours to cover a particular distance at a uniform speed of 60km/hr. How long
will it take to cover the same distance at a uniform speed of 40 km/hr?
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A) 6 % hrs. B)7 % hrs C)8 % hrs D)9 % hrs

Ans:B) 7 % hrs

125. Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 24
minutes. If the tank is empty and all the three taps are kept open, in how much time the tank
will be filled?

A) 1hr B) 2hrs C) 3hrs D) 4hrs

Ans: A) 1hr

126. 32 x 4+x

- 36

= 4 then the value of x is
A)16 B)196 C)256 D)296

Ans: C)256

127.Which is not correct?

o135 (3x(=3)) = [3x3]x ()
ans: 03+ (5 (-3)) =[3+31+ (-9

128. Which is least in the following? 5/16,3/8,1/4,1/2
A) % B) % C)3/8 D) 5/16
Ans:B) %

129. in Cartesian plane the points A(0,0), B(3,0) C(x,y) and D(0,5) represents a rectangle, then
C(x,y) is

A) (3,5) B) (5,3) C) (-5,3) D) (3,-5)

Ans: A) (3,5)

130. The total angle at the centre of a pie chart is
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A) 90° B)180° C)270° D)360°

Ans: D!3600
131. Digoxin, a biomedicine obtained from the plant digitalis is used to treat

A) Malaria B) Heart Disease C) Cough D) Mental Disease

Ans: B) Heart Disease

132.  All vegetables, fruits and food items contain water different
proportion. Find out the thing in which 73% of water is present.
A)Cucumber B)Milk C)Potato D)Egg
Ans: D)Egg

133. Most of the green plants are self dependent because they synthesize their own food
materials by photosynthesis. Find out the angiosperm plant which lack chlorophyll.

A) Monotropha B) Petunia C) Cuscuta D) Viscum

Ans: A) Monotropha

134. The inability of a X student to retain his lessons in memory is due to the deficiency of
A) Vitamin By, B) Vitamin A C) Vitamin Bs D) Vitamin E

Ans: C) Vitamin Bs

135. In Bioremediation Gibberella fusarium is used to break down

A) cyanide B) cadmium C) mercury D) chromium

Ans: A) cyanide

136.  Which one of the following is the weakest force among the fundamental forces of nature?

A)strong nuclear force B)Weak nuclear force C)Gravitational force D)Electromagnetic force

Ans: C)Gravitational force

137. A ball thrown up is caught by a thrower 4 seconds after start. The height to which the ball
has risen is (g = 10 ms™)

A) 20m B) 10m C)400m D)2m
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Ans: A) 20m

138. Nichrome wire is used as the heating element because, it
A) has low specific resistance B) has high melting point

C) is easily oxidized D) all of these

Ans: B) has high melting point

139. Electrostatic induction is used in
A) AC generator B) Transformer C) DC generator

D) Van-de-graff generator

Ans: D) Van-de-graff generator

140. Atrain travels in a straight line track from Station ‘A’ to Station ‘B’ at a speed of 40 Km/hr
and returns to Station ‘A’ at a speed of 60 Km/hr. The average velocity is

A) zero B) 50 Km/hr C) 45 Km/hr D) 55Km/hr
Ans: B) 50 Km/hr
141. Colchicine stops mitotic cell division at which stage?

A) prophase B) metaphase C) anaphase D) telophase

Ans: B) metaphase

142. The oncogene responsible for causing blood cancer
A) L—myc B)ErbB—2 C)Hox Il D) ret

Ans: C) Hox Il

143. Herpestes edwardsii is the scientific name for

A) Garden lizard B) Mongoose C) Spider D) Fruit bat

Ans: B) Mongoose

144. Stinging nature is more in one of the following bees
A) Apis derosata B) Apis florea C) Apis indica D) Apis mellifera

Ans: A) Apis derosata
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145. Pernicious Malaria is caused by
A) Pasmodium vivax B) Plasmodium ovale

C) Plasmodium malariae D) Plasmodium falciparum

Ans: D) Plasmodium falciparum

146. The mixture of ammonium chloride and sodium chloride are
separated by

A) Crystallisation B) Distillation C)Fractional distillation D) Sublimation

Ans: D) Sublimation

147. The concentration of hydroxyl ion in a solution is 0.01 x 10° M. The pH value of the solution
is

A)3 B)9 )11 D) 4

Ans:A)3

148. Which word equation correctly shows how methane undergoes combustion in plentiful
supply of air?

A) Methane —» Carbon dioxide + Steam
B) Methane + Oxygen » Carbon dioxide + Hydrogen
C) Methane + Air _,Carbon + Hydrogen

D) Methane + Oxygen _ Carbon dioxide + Steam

Ans: D) Methane + Oxygen _—» Carbon dioxide + Steam

149. Among the following series of transition metal ions, the one where all metal ions have 3d’
electronic configuration is

(At. No. Mn = 25, Fe = 26, Co = 27)
A)Mn*', Fe*, Co®* B)Mn?*, Fe*', Co*" C) Mn*, Fe**, Co®* D)Mn**, Fe**, Co"

Ans B ) M n2+’ F e3+’ C o4+

150. Which one of the following reaction is an example for calcinations process?
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A) 2Cu + 4HClI + O, — 2CuCl; + 2H,0
B) 3Fe + 20,— Fes + O,

C) MgCOs MgO + CO,

D) 2ZnS +30, —» 2Zn0, + 250,

ans ;. C) M@CO3 —» MgO + CO,
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